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Topic:- Agriculture I

1) If cos (A—B)= V3/2 and cosec (A + B)=2/vV3, find the value of tan A tan B? /
IfE cos (A — B)= V3/2 3K cosec (A + B)=2/V3, @ tan A tan B &I AT AT #I?

1.1

2.2\3

3.3

4,32

Correct Answer :-

. 243

2) Which of the following two families dominate in having maximum useful plants? /
famafaf@a & & #la @ ar Fat § 3fRwaw gear & swEh o @

1. Fabaceae and Poaceae / thadil (HhaTHT) 3R diodr

2. Liliaceae and Solanaceae / foifergdy 3iX dAreladr

3. Liliaceae and Poaceae / TeiferodT 31X drwer

4. Malvaceae and Brassicaceae / HTerddr 3R sT&har

Correct Answer :-

« Fabaceae and Poaceae / Hhadl (W) 3R 9rodT

3) Atlas 66 variety of wheat was developed for: /

ﬂq’aﬁrmmssaﬁﬁm?mmﬁmwm



1. Checking grassy stunt virus / &1 Elc'@' QT T FT FEAT
2. High protein content / 3Td UIéleT 37aad

3. Vitamin C / fderfde C

4, Scented grains / HS?T@H ATt

Correct Answer :-

« High protein content / 3T WeT 37aad

4) Primary carboxylation occurs in C3 and C,4 plants with the help of: /
wrafA® sEffFaas c; 3 c ulat & s Y A @ ufea aar &:

1. RUBP carboxylase and pyruvate carboxylase / HR'&@'C‘T FlElFderel 3R gERde
FraifreersT

2. RUBP carboxylase and PEP carboxylase / wqal' Freffrderst 3R dBdr SEffeaes
3. PEP carboxylase and RUBP carboxylase / tﬁ?ﬁf Fralgerel 3R H@@'Cﬁ CACIERS
4. PEP carboxylase and pyruvate carboxylase / disdr FEffFaes 3R dswde FHEiiFaereT

Correct Answer :-

« RUBP carboxylase and PEP carboxylase / 3-1'@@'@' Freffedest 3R dB5dr FEifeaes

5) In germinating seeds, fatty acids are degraded exclusively in the .
sigfia fist & & ofes A Ay w3 # Frliga R S
1. protoplastid / FICICATECS

2. mitochondria / HATSCISI=gAT

3. glyoxysomes / TITS3ardIGH

4. peroxisomes / UL

Correct Answer :-

. glyoxysomes / TITS3TFEEH

6) In order to stop a car in shortest distance on a horizontal road, one should .
wF AT §5F W FA @ 7 gl # tF FR F IFA & o, vl 7
1. apply brakes hard enough to just prevent slipping /

Wehal ¥ T & T FHI g S =T ART



2. apply the brakes very hard so that the wheels stop rotating /
HHRL ek S9Nl ARV dlfeh TfRT goled &elr dg X &l

3. shut off the engine and not apply brakes /

golel I 9 X & 3 sl o o9My|
4. press and release the brakes /

s @ oEd 3R 8IS &I
Correct Answer :-

« apply brakes hard enough to just prevent slipping /

Waha T & AT HHP g S @A AT

7) Newton’s law of cooling is valid for: /

e &1 fdes F1 g s@& v 3 gar 8
1. High temperature / 3Td dT9HTeT

2. Large temperature difference / 8T dTIHTeT 3
3. Small temperature difference / BT dATIHATT 3R

4. Low temperature / [&loT dmq# et

Correct Answer :-
+ Small temperature difference / BT dTIHTT 3R

8) Which hydrocarbon is mainly present in gobar gas? /
FIT-A1 FEFFET AT T F Ma7 I7 # 3ufewa gar 82
1. Butane / &’JI@?I'

2. Propane / 9ideT

3. Methane / HIT

4, Ethane / T3

Correct Answer :-

e Methane / AT

9) Which among the following is the unit of power? /
fArafaf@a & ¥ sla-a@ afFa fr s 2
1. Ampere / TFIRIY



2. Ohm / 3NEH
3. Volt / dlec

4, Watt / dic

Correct Answer :-

o Watt/dic

10) Which among the following statements is TRUE regarding Electrostatic lines of force? /
T B Rydegfad W@t § v § i@ § & sa-ar sy a7

1. Electrostatic lines of force are continuous curves in an electric field starting from a negatively charged
body and ending on a positively charged body. /

gof &1 TERRdcEfah! WU, Th fdegd &fF # FohnIcHAs MR e & 4« gt oRa)
mm%ﬁ?mmﬁmﬁwa‘cﬁ%l

2. Electrostatic lines of force intersect each other. /
I 7 FERdegfadr Y@ tEw-gEy & gfaesfed & g

3. Electrostatic lines of force are non continuous curves in an electric field starting from a negatively charged
body and ending on a positively charged body. /

gof &1 TERdcE bl WU, Toh fdegd &iF & FhRIcHAs HaRId Fhr & I gl IR
ﬁwwﬁﬁ%ﬁhwyﬁﬁaﬁmﬁweﬁ%l

4. Electrostatic lines of force are continuous curves in an electric field starting from a positively charged body
and ending on a negatively charged body. /

o I [EuRdegfahr T@mT, v faegd &la # GohRTcaAs AT AT & & gl faka? g T
& 3R FTPRIcHAS 3MAfAT AhrT & AT B

Correct Answer :-

 Electrostatic lines of force are continuous curves in an electric field starting from a positively charged
body and ending on a negatively charged body. /

ol 1 TERdeg T @Y, Teh faegd &iF & HehRicH AR fAehrr & & greht fRe gl i
& 3R APRIcHS AT HhrT H FHCT gl g

11) Which one of the following vitamin contains a metal atom? /
famafaf@a & & fFa fafe & & urg oy g @2
1. Vitamin B¢/ faerf@« By

2. Vitamin A / f@erf@a A
3. Vitamin B, / faeIf&e B,
4. Vitamin B,/ TaeIf&e By



Correct Answer :-

o Vitamin By,/ faaif@« By,

12) Glucose and fructose are converted into ethanol in the presence of .

@ AR wEdts w @y sufeufa F sdeter F aRafda fear smar g
1. zymase / STSHA

2. invertase / s?ﬁléﬁ
3. lipids / forfas

4, diastase / SAECH

Correct Answer :-

 zymase / JSHA

13) Heat capacity of water during melting is: /

Rt & R st A FsAT 41iEr g §:
1. One / Ueh
2.Zero/‘\’]\F€I'

3. Infinity / 37T
4. Insufficient data / 379ATCT 3T

Correct Answer :-

o Infinity / 37d

14) 5.6g of an organic compound on burning with excess of oxygen gave 17.6 g of CO, and 7.2 g of
H,O0. The organic compound is: /

it 1 JAFaT F TH 5.6 AW FEfAS FAF F g8 W 17.6 AH CO, 3T 7.29M H,O |
Fefas IiF T

1. C¢Hg
2. CgH,0
3. C3Hg
4. C4Hg

Correct Answer :-

i C4H8



15) Soft soaps contain: / Fg AT (Hire &) & &
1. Calcium salt / SferRIH aIqoT

2. Potassium salt / 9T orqoT

3. Sodium salt / EIfSTH oIqoT

4. Magnesium salt / HIATAIA TF0T

Correct Answer :-

e Potassium salt / QTRATH FIFOT

16) The normal atmospheric pressure is: /

AT IYASAT ga1T el §:
1. 76 m of Hg

2. 76 cm of Hg
3. 76 N/m?

4,76 Pa

Correct Answer :-

e 76 cm of Hg

17) The unit of relative density is: /
INRF elea A FHE &

1. No unit / I SHIS AT

2. m/kg

3. kg/m3

4. g/crn3

Correct Answer :-

. Nounit/?ﬁé’ $T=Flé' er

18) The velocity acquired by a body falling freely from rest is: /
e @ Faa7 ¥ ¥ RS 9@ & e g@rr sfoia o &
1. Inversely proportional to the time of its fall. /

g8 TR & AT & FeshATEATAT |



2. Inversely proportional to the square of the time of its fall. /
5% RS & FHT & T & GeshATIIdT|

3. Directly proportional to the square of the time of its fall. /
o TGT & @ & ait & A eI

4. Directly proportional to the time of its fall. /
38 TR & AT & W Iqarfan|

Correct Answer :-

 Directly proportional to the time of its fall. /

g8 TR & AT & W JTgaricn|

19) The reaction between alkali and fat is called : /&R 3R T & T v H¥ATFAT F Far ST &

1. Hydrolysis / STel-3798eeT (§r3s1feiaiy)
2. Saponification / F@F—hWUT (@‘rtﬂﬁﬁﬁ?%m)

3. Distillation / 3THdsT (f3¥cerer)
4. Dehydration / foieTeliepoT (%aé?%l?r)

Correct Answer :-

 Saponification / Fl'lg?nEhTUT (ﬁq’lﬁﬁﬁ?%m)

20) The time period of a simple pendulum is: /

T WA ddd B gAIEE gl &

1. Inversely proportional to the value of g at a place. /
el U W g & AT & GhARTI

2. Inversely proportional to the square root of the value of g at a place. /

fohell TUT 9T g & AT & TIHT oh eGhATEIC |
3. Directly proportional to the cube root of the value of g at a place. /
fohdll TUTeT W g & AT & Gelefel & WY JaTAH |

4. Directly proportional to the square root of the value of g at a place. /

fohell TUT W g & AT & I & WY Jgaricien|

Correct Answer :-

« Inversely proportional to the square root of the value of g at a place. /
Tl TUTT TR g & AT & G & oshATTITC |




21) In monocots, the guard cell are i
THASIE (AAPEH) A, g@R HREr g §
1. spherical / IS

2. reniform / geFehlhY

3. isodiametric / HHSITHRT

4. dumbbell shaped / SFaeel TR

Correct Answer :-

« dumbbell shaped / SFaSeT JTHRTRA

22) Parthenocarpic fruit CANNOT be produced by the application of: /
qAFF G FT 3curee fAesT & TANRT ganT g fFAT S qFr 8
1.2,4-D

2. ABA

3.IBA

4. IAA

Correct Answer :-

« ABA

23) Thin-walled large cells present on the upper leaf epidermis that are capable of
contraction and expansion are: /

geeht & F98 vRsRiE W Al gaeh @feq arelt a3 AT Y dFae ik
faraia ga & warar gl &

1. Guard cells / T&Teh HITARIT

2. Subsidiary cells / TETIH HITARIT
3. Bulliform cells / 3TTaY caeren! fYehT
4. Gland cells / ITT BT

Correct Answer :-

« Bulliform cells / 3TTaY caerehIfRIeRT

24) Cruciform corolla are found in: /



FATT gAY (FHBRT FRen) Fe & aw anr §
1. Pea / AKX

2. China Rose / dTg«T U

3. Radish / #ell

4. Sunflower / '{{Glﬂ@

Correct Answer :-

« Radish / Hell

25) Under unfavourable conditions, many zooplanktons enter a stage of suspended
development called ./

yfager aRIPufAat & iaeta, #3 yoficaas A&l {ew & e wor 7 w@r F:@
g gt gl

1. Tor por / AR 94X

2. Hibernation / NfITSshacr

3. Diapause / 3WRfd

4. Quiescence / F2Md

Correct Answer :-

« Diapause / 3R

26) Blue-coloured dye yielding plant of Fabaceae is: /
hadl FT ster ST 31§ ot arar dlem
1. Indigofera / STesaMhI

2. Trifolium / gremIferds
3. Lupin / Wﬁﬂ

4. Cassia / hiQaT

Correct Answer :-

« Indigofera / SfegaNthal

27) Which of the following does not happen during glycolysis? /

TAEHART & T e & ¥ Fa7 g gar 82



1. Oxidative decarboxylation / 3edisfed BhREITFTeRT
2. Dehydrogenation / Tdgrssietetet

3. Photophosphorylation / TICTRIEHIT T

4, Isomerisation / HHATIIdT

Correct Answer :-

« Photophosphorylation / HICTHIEHI el

28) Which of the following is NOT an Indian variety of bee? /
Rrfafea # @ #-d w5 dRe Rrew 1 e w@ ¥
1. Apis mellifera / TfAa fATIHNT

2. Apis indica / ¥fQF 3fr5aT

3. Apis florae / Of9w Feiar

4. Apis dorsata / efow srder

Correct Answer :-

. Apis mellifera / 2f9w fAfTONT

29) Quiescent centre is located in: /

weia ¥ (FEsUdT WeX) Jg1 Ryud g
1. Shoot apex / WR1g 2w

2. Root apex / el oy

3. Bud apex / @foier i

4. Leaf apex / eal oY

Correct Answer :-

« Root apex / #Hel oy

30) Casparian thickening occurs in the cells of: /
FE8 vyaer T fr FifEEt & & @
1. Pericycle of root / #el <hT gRIeT

2. Pericycle of stem / eIl &I IRIS



3. Endodermis of stem / dell &A1 3IdeTH
4. Endodermis of root / Hel @l FaTH

Correct Answer :-

« Endodermis of root / Hel &1 AaTH

31) The number of stamens in the family of Asteraceae is: /
PR For F qFET Fr wEAT P @
1.3

2.10
3.7

4.5

Correct Answer :-

32) The genotype of hybrid is known by crossing: /

T (g1Efos) #1 Shieermsy A & FROT g@rT =T AT §:
1. F, with recessive parent / 3Tl SleTeh T F2

2. F{ with recessive parent / 39HTAT Sieleh & F,

3.F xF

4. F, progeny with female parent / HIGT Slelh # F2 Tl

Correct Answer :-

« F, with recessive parent / 3TIHTAl Ak H F,

33) The pair of spiracles present on a grasshopper are: /

33 W 3ufPya ARy (FaElEew) F ToA @A
1. 15
2.10
3.5

4. 20

Correct Answer :-



34) The rate of transpiration is measured by: /
arsqicHate 1 X farT ganr At S @
1. Respirometer / QTHAATAT (FEIRRIFAR)

2. Porometer / GRIHIEI

3. Auxanometer / aﬁ; AT (3iTFarade)

4. Ganong’s potometer / AT HT qerHI

Correct Answer :-

« Ganong’s potometer / ITATIT T GIEIHIE

35) In Cucurbits, hypodermis is formed of: /
Fatfael &, T gEET oo Qe §

1. Collenchyma / oIS

2. Sclerenchyma / HAGED

3. Aerenchyma / dcsh

4. Parenchyma / #fgdeh

Correct Answer :-

« Collenchyma / 2eSIcIeh

36) A diploid female plant and a tetraploid male plant are crossed. The ploidy of endosperm
shall be: /

U EfAiord Arer dier AR v TP X ot HRa AT ST @1 oy Hi
HAOTeT By

1. Pentaploid / qﬂ?ﬁﬁ
2. Tetraploid / EITE@FT
3. Diploid / efaITioTe
4. Triploid / ﬁ?ﬁﬁ

Correct Answer :-

o Tetraploid / Elﬂ?i'ﬁlﬁ



37) Laccifer lacca belongs to the class: /
dBy dler AFT Tt ¥ wefaa &

1. Arachnida / WTeaTar

2. Diplopoda / f3caraiar

3. Crustacea / Shec il

4. Hexapoda / gergTaIST

Correct Answer :-

« Hexapoda / gerardisT

38) A heavy box of mass 20 kg is pulled on a horizontal surface by applying a horizontal force. If the co-
efficient of kinetic friction between the box and the horizontal surface is 0.25, find the force of friction

exerted by the horizontal surface on the box (take g=9.8 m/sz). /

20 FFAATH geIATT ald T A 97 F &fdsr ¥ag W aifds o Jomet & arar g1 afe a7
3R aifasr wae & T 7fas ador F1 onF 0.25 §, @ FHY W A FAE @R FIC A arer wor
I F AT I

1.125N
2.0.5N
3.49N

4. 049N

Correct Answer :-

e 49N

39) While walking on ice, one should take small steps to avoid slipping because smaller steps ensure
/

aﬁwaaﬁgc,%aﬁmﬁaaﬁﬁmaﬁ#aaﬁ%ﬁvaﬁmwﬁaﬁvaﬁ%aﬁm
#I ghaftaa wa ¢

1. Larger normal force / 3 ATHT del
2. Larger friction/ EI? gyur

3. Smaller normal force / B¢ ATHTT ol
4. Smaller friction / BIC YO

Correct Answer :-

o Smaller friction / B¢ TYOT



40) If logs (x)=3, then x is:
afe logs (x)=3, arx &:

1. 15

2.125

3.5/3

4. 243

Correct Answer :-

41) The types of bonds present in NH4Cl are: /

NH4Cl 3 39y ey & TR 81 8

1. Only ionic / hael 3TAfsw

2. Only covalent / shadel Tgadreil

3. Electrovalent, covalent and coordinate / aag?r TSN, ggaare 3R 3uggaare
4. Both ionic and covalent / 3 3R FggAreh At

Correct Answer :-

« Electrovalent, covalent and coordinate / aag?r TS, ggaare 3R 3uggaare

42) A moving charge produces /

F Afaefle MY 3cTeT FIT o

1. both electric and magnetic field / ﬁi'.}’il_,?[ 3R W SERAC]

2. neither electric nor magnetic field / & ar faeged &+ iRaT& gaﬁ'sr aT
3. electric field only / Shdel ﬁ?\:ﬂ?[ &

4. magnetic field only / hdel gaﬁzr E]

Correct Answer :-

« both electric and magnetic field / fﬁ?{g?[ IR ﬂﬁ'& SERACH

43) The mean of the first k natural numbers is x and that of the cubes of the first k natural numbers is y.
The sum of the first k natural numbers is: /



YUH k WIHfas FEAT FT AT x ¥ 3R 94T k THfaF gewmsit & o y§ 9T k pfaw
HEATHT FT AT B

1. y/x
2. X-y
3. y+x

4. yx

Correct Answer :-

44) If the standard deviation is 4 and mean is 16, then the coefficient of variation is: /
Ife wew e 4 § 3k Ared 16 3, ar RAewor aons 2

1. 25

2.8

3.4

4. 64

Correct Answer :-

45) Find the mode when median is 9 and mean is 12 of a data? /

qgel FI AT B o9 TH 3eT F AfCAH 9 IFR ATLT 12 g {2
1. 15

2. 18

3.3

4.6

Correct Answer :-

46) Find the sum of the first six terms of the Geometric progression with first term 2 and common ratio 3.
YYH 95 2 R @A AU 3 & WY Jolica’ Aot & gYA o el F AT AT HifSwl
1.-728

2. 728



3. 735

4. 753

Correct Answer :-
o 728

47) A person can see only upto 3 m. Prescribe a lens for his spectacles so that he can see clearly upto 12
m. /

UF ST Fad 3 HIT aF 3@ FHAT g1 39F A F AT vw dw w1 gew ffv afr 7§ 12
HIeT a T wHI

1. Concave lens of power -4 D / -4 D &HdT aTell 3dddl o
2. Convex lens of power -0.25 D / -0.25 D &T#dT aTell 3cdel o

3. Convex lens of power -4 D / -4 D &THdT aTell 3cdol ol F

4. Concave lens of power -0.25 D/ -0.25 D &#dT arell 3iddel ol

Correct Answer :-

« Concave lens of power -0.25 D/ -0.25 D &THdT aTell 3adlel old

48) The sum of all terms between the third and the thirteenth is 66. Find the number of the term of the
sequence that is equal to 6. /

a3 S F N weft get F1 AT 66 B1 ITHFA F Ug H WEAT AT AT A 6 F
TN gl

1.8
2.6
3. 11

4. 10

Correct Answer :-

49) From a point on the ground which is at a distance of 50m from the foot of the tower, the angle of
elevation to the top of the tower is observed to be 30°. The height of the tower is: /

eha & urg F 50T 1 gt W ol F Fya v Rg @, efav & ofid w0 s773a Fior 30°
AR T Srar 1 e A A R

1. 50m

2. 30m



3. 50v3m

4, 50W3m

Correct Answer :-
e 50/V/3m

50) A copper block of mass 60 g is heated till its temperature is increased by 20°C. Specific heat capacity
of copper = 0.09 cal/g°C. Find the heat supplied to the block. /

60 IATH FEIATT AT A FT UF THal, 38 20 Bt afcwaaw avame qea aF e fFam srar 2
dia #r fAfdrse sar aRar = 0.09 cal/g°C 1 gH3 A § 7§ FvAT F AT R

1. 2.7 cal
2. 2.7 [cal
3. 108 cal

4, 1.08 cal

Correct Answer :-

51) The IUPAC name of the following compound is:
CH3—CH,;—CH=CH-C=CH /

feafaf@a 3+ &1 IUPAC a1 TaEw:
CH3;—-CH,—-CH=CH-C=CH

1. Hex-3-en-1-yne

2. Hex-1-yn-3-ene

3. Hex-3-en-5-yne

4. Hex-5-yn-3-ene

Correct Answer :-

» Hex-3-en-1-yne

52) The range of the scores 28, 21, 37, 42 and x is 27 (where x<21). The value of x is: /
THR 28,21, 37,42 3 x Y I (aR@ER) 27 &1 (ST x<21) x &1 AR §:

1. 15

2.12

3. 18



4. 20

Correct Answer :-

53) Mechanical advantage (M A), load (L) and effort (E) are related as: /
Tifye a1 (M A), IR (L) 3 v (B) @7 ¥ @ g&faq &
1.E=MA/L

2.E=MAxL

3. MA=LxE

4. MAXE=L

Correct Answer :-
e MAXE=L

54) Natural gas is primarily composed of : /
wpfaw I 7T T F 37A Tl gl ¢
1. A mixture of octanes / 3fToe=il & TASOT
2. n-octane / n- 3ffaee

3. n-Butane / n—@f_ﬂ'

4, Methane / AT

Correct Answer :-
e Methane / #3

55) In an experiment to determine the internal resistance of a cell using a potentiometer, the balancing
length is 500 cm. When a resistance of 5 ohms is joined in parallel with the cell, the balancing length is 300
cm. Calculate the internal resistance of the cell. /

v RsraArd F1 39T w1 g A9 F AaRE vy B AuiRa F@ F @ o w@er A, Gqe
aar$ (SAfer ) 500 ¥ ¥ ST 5 N F 9fRY, AT F T FHER F J3 1T ¢, @ e
aar$ (AT oY) 300 Y g S &1 AT F AR gfAAYT FHr AT FIY

1. 2 ohms
2. 3.33 ohms
3. 6.66 ohms

4. 0.33 ohms



Correct Answer :-

e 3.33 ohms

56) Which of the following is a buffer solution? /
rafaf@a & ¥ Fla-ar 309- afodehar s Rewa &2
1. NaCl + NaOH

2. CH;COOH + HCl
3. CH;COOH + CH3COONa

4. HCI+ NH,CI

Correct Answer :-

« CH;COOH + CH3;COONa

57) A vertical pole of height Sm casts a shadow of length Sm. The angle of elevation of the
sun is: /

5 Hex FATE a1eT TF FEaTR G, 5 HleX QS HY SHT STer 81 WF FT 3eAA FIT 5
1. 180°
2. 60°
3. 90°

4. 45°

Correct Answer :-
e 45°

58) A magnetic needle is kept in a non-uniform magnetic field then it experiences .

F TR G TF HWAW R 8T A @ Il § S 7w T HIA §

1. a force but not a torque / Teh &l offchel aTvITEI;UT FT AgT
2. a force and torque / Teh &l 3R aTvlTE{\U‘f C3l
3. neither a force nor a torque / T & &of 3R o & aaTq\U‘r Cal

4. a torque but not a force / Ueh SoITe(ol oifdhet Tk el &7 g

Correct Answer :-

« a force and torque / Teh &el 3R a?»IT'c';I'\Uﬁ' T



59) The normality of 2M sulphuric acid is: /
2M FERIRE 35l T AHATIAT el §:

1. 0.25N

2. 4N

3. 0.5N

4.2N

Correct Answer :-

60) Calculate the focal length of a convex lens of crown glass of dispersive power 0.012
and concave lens of flint glass of dispersive power 0.020 so that when placed in contact
they form an achromatic converging combination of focal length 30 cm. /

0.020 9RaidY &a7HdaT F fFeie 7T & radd oW 3i1¥ 0.012 IR&id &77ar & F137 790 F
TF Icdol o Y Blehd dFaTS ATT FY dIfh o 3ea U & @I 1 ar ¥ 30 9 i Baver
aa1s F U vl AHE THeT # [AfdAaT F:X

1. -20cm
2. 12cm
3.6cm

4. 20 cm

Correct Answer :-

e 12cm

61) The larva of Sycon is called ./
AISHIT HT o1ar HEATT ¢l

1. amphiblastula / 3HPRH (ﬁmﬁ@?ﬂ)

2. redia / YT

3. parenchymula / Hgdeh (RhIsHe)
4. trachophore / ¢ehIBIX

Correct Answer :-

. amphiblastula / 33PRS® (TFhlsclEal)

S



Simplify/ a3 #:
logs (x)+logs(x-1):
1. log (x*(x-1))

2. log; (x)logy(x-1)

3. logy(x(x-1))

4. logy(x(x-1)""2)

Correct Answer :-

o logy(x(x-1)'"?)

63) A compound microscope consists of two lenses. The lens towards the object is called

objective lens and itis a i
T TYFT GeAcel ¥ 3t oW g &1 avqg Y AR AW F ARTIAF AW FET AT 81 TS 0F
g gl

1. Convex lens of large focal length and large aperture. /

TS Bldhel oTFaTs 3R 93 gaRe dTell Teh 3cdol ol

2. Convex lens of small focal length and large aperture. /

BIET Bl oFaTs AR I3 IR ATl Ueh Sedol o d

3. Convex lens of small focal length and small aperture. /
BICT Blhel oFaTs 3R BIC GRS dTell Teh 3cddl ol
4. Concave lens of small focal length and small aperture. /

BIE Blshel dTaaTs 3R BIC GRS Tl U add o d

Correct Answer :-
» Convex lens of small focal length and small aperture. /

BIE Blshel dTaaTs 3R BIC GRS Tl U 3cddl o d

64) . - Lr T T iy
The sum of the infinite geometric series 2 15 32 & is: /

3 3 3 3
S —— 4

WWMB 16 32 64 q;rm%'
1. 1/4
2. 1/16
3.12

4. 1/8



Correct Answer :-

e 1/4

65) The pK, values of four acids are given below at 25 °C. The strongest acid is: /
S IR 3Fel & pK, AT 25 °C W A 3 §| A yael 3+ &

1.25

2.4.0

3.3.0

4.2.0

Correct Answer :-

66) Which among the following is a disaccharide? /
fArfafaa & & #ia-ur ve séderss 82

1. Fructose / SheFelof

2. Starch / T/

3. Cellulose / @efeirst

4. Lactose / olerelsl

Correct Answer :-

e Lactose / olelat

67) The 10th term of Geometric progression with first term 2 and common
ratio 2 is: /

o U5 2 3R A ST 2 & WY AeaR Avft w1 107 ug ¥
1,252

2.2%3

3.2%

4.2°

Correct Answer :-

. 2923



68) Simplify: / TTer FI:
sin150°. sin151°...... sin190°?
1. 180°

2.1

3.0

4. 90°

Correct Answer :-

69) The characteristic of log 5= 0.6988 and the mantissa of log 10 =1 is: /
log 5= 0.6988 T quiter 3 log 10 =1 T 3rrfer 3:

1.0,1

2.1,0

3.1,1

4.0,0

Correct Answer :-

70) Fertilizer having highest percentage of nitrogen is: /
Feaad faerd AFEIS Jod 39T ¢

1. Urea / gRam

2. Calcium cyanamide / HToRIIH TAATATSS

3. Ammonium sulphate / 3AATH Tethe

4. Ammonium nitrate / JAAITH ASCT

Correct Answer :-

71) Which of the following is NOT an arithmetic sequence? /
frrfaf@a & & sla-a1 vF FATR IHqFA (FATE Aoft) T 82

1.1,v2,V3, 2, V5, ...



2.2,4,6,8, ...

3. 1/3, 1/10, 1/17, 1/24,...
4.1,3,5,7, ..

Correct Answer :-

e 1,V2,V3,2,V5, ..

72) Ammonium nitrate (a fertiliser) is coated with limestone powder to: /
IAfATH AL (TF 36F) F I F TR F BN & dAfa A srar § an:
1. avoid the risk of explosion. / faThie & ANT@H & Jehdr %'I

2. cut down its production cost. / SHPI 3T oATTd Pl HH HIAT ¢l

3. increase its nitrogen content. / SHPT ATSCISTeT 37aIAd TGIdT &l

4. add extra nutrient as fertiliser. / 3d%& & &7 H JfaReFd N¥F STodT 2l

Correct Answer :-

« avoid the risk of explosion. / Ta¥®IC & NT@H FI AshdT gl

73) Gold number is a measure of ;: / €97 HFE&AT fAFT T AT ?IHT %’:

1. the amount of gold required to protect the colloid / TSS HI TAT & TAIT TSR TIOT
T AT

2. the amount of gold required to break the colloid / HIASS FI dIsal & fAT 3TaTS TIoT
hr AT

3. the amount of gold present in the colloidal solution / Flomssr faeraa & 39feya TquT &
HTET

4. none of these / 3C|'{17=|"?f ;I ﬁé sTer

Correct Answer :-

« none of these / 3q’ai‘¢7—r qI H—ﬂé’ B

74) 1f ¢’ is the radius of the first orbit, the radius of the n'? orbit of the H-atom will be: /
I o guw A A e &, @ Howwer #r o war Y B @i
1. r’n?

2. rn2



3.1/n

4.

Correct Answer :-

75) General formula for the alkenes is : /
ol & faT aEeT 17 8

1. CyHony

2.C,Hy,n

3. C,Hy,

4. CnH2n+2

Correct Answer :-
« CHy,

76) A writer wrote 250 words on the first day, 320 words on the second day and 390 words
on the third day, and so on. How many words did the writer write in a week? /

TF AGF A ggd T 250 req, @y faeT 320 ereq R Ay R 390 reg fad 3k st e
a8 for@ar T vF oA # Auw 7 fhae asg fawe

1. 560
2. 620
3.670

4. 580

Correct Answer :-

e 670

77) The thermal conductivity of copper is 4 times that of brass. Two rods of copper and
brass having the same length and cross section are joined end to end. The free end of the
copper rod is kept at 0°C and the free end of the brass rod is kept at 100°C. Calculate the
temperature of the junction of the two rods at equilibrium (neglect radiation losses). /

aie Y FAT Arerndr, fiad & JFEa 4 T J0F T A 3 daa @ @ o3,
Wmﬁﬁ%&ﬁwmm Qwﬁmaﬁa?w%laﬁﬁwamw
BN, 0°cq1r@1m%3ﬁrtha$raﬁra-s'aﬂww 100°C wX T@T ST



AT (RAFRROT g # 39T ) W ar o3 i I F aarer A o
£y

1.5°C

2.25°C

3. 20°C

4. 10°C

Correct Answer :-

e 20°C

78) The molecular mass of acetic acid is 60. Its empirical formula is: /
A svar F1 fPaw geawTeT 60 %1 SHHT HATUTC T 8

1. C,H40,

2. C,H,0;

3. C3H(O4

4. CH,0

Correct Answer :-
. CHzo

79) 1If a positive charge is shifted from a low potential region to a high potential region, the
electric potential energy: /

aﬁwmmﬂ,ﬁmf?ﬂﬁam#mmmﬁﬁam&?ﬂ
faega Rufasr sa:

1. Decreases / €1&3T |
2. May increase or decrease / §¢ IT €€ Tehal gl
3. Increases / &3 |

4, Remains the same / HHTeT Q%?ﬁ'l

Correct Answer :-

e Increases/ aa?ﬁl

80) The refractive indices of flint glass for red and violet light are 1.613 and 1.632
respectively. Find the angular dispersion produced by a thin prism of flint glass having
refracting angle 5°. /



ae 3R Sl werer & AT e som @ & rqadeE FAA: 1.613 30K 1.632 §1 5°
F9aa o T} Fele 7a9 & gaa Rew @Rt [ sofir aRagor #& a1 w31

1.5°
2.1°

3. 16.225°
4. 0.095°

Correct Answer :-

» 0.095°

81) Which of the following formulas is TRUE regarding logarithms? /
A & Wy F PR & & Far g1 aew ¥

L. logy(xy)=logy(x)logy(y)

2. logy(x+y)=logy(x)+log(y)

3. logy(x/y)= logy(x)/logy(y)

4. logy(x-y)=log,(x)-logy(y)

Correct Answer :-

o logy(xy)=logy(x)+logy(y)

82) Find the number of terms if the first term of an Arithmetic Progression is 10, last term of
an Arithmetic Progression is 60 and the sum is 350? /

el Y &1 A AT T FATET Ao FT 9UH 9 10 &, FAGT Ao F1 {37 9 60 &
3k avr 350 &2

1. 15
2.20
3.10

4.5

Correct Answer :-

83) The 4! term of a Geometric progression is square of its second term, and the first term
is 3. Then its sixth term is: /



TF 0N Ao FT AT g€, $HF qEY UG FT q9F g, 3R ggAm ug 3 ¥ Y SHHT Sodl UG ¢
1. 650
2.729
3.598

4. 693

Correct Answer :-

e 729

84) “Greater the valency, the higher is the coagulating power of ion”. This rule was proposed
by: /

“fFdr I T FASRAT de) AWF Y &, 3TRT Theed FIa Y &TAAT 3deT &
s g &7 98 9w 39 @rr yearfaa fFar = O

1. Hardy-Schulze / 61?“:1'—11«3
2. Graham / dTgH

3. Kossel and Lewis / &iede 3iR SEN
4. Faraday / $13

Correct Answer :-

» Hardy-Schulze / gTSI-Hool

85) How many two digit numbers are divisible by 2? /
&Y 31 arelt fraelt TEaw 2 & fassw &2

1. 50

2. 48

3. 49

4. 45

Correct Answer :-

86) How much gram of H,SOy is required for the preparation of 1 litre of N/10 solution of
H,S04? /



H,S0, & N/10 faerde T t& ofler IR & § v s a# H,S0, Y 3maedshan
gielt 82

1.4.9g / 4.93m
2. 49g | 493
3.9.8g / 9.89H
4. 98g | 98ITH

Correct Answer :-

.« 49g / 4.97m

87) In C=C (triple bond) there is a sharing of: /

C=C (F-3may) # e $ir Fsierr (i) ad &
1. 6 electrons / 6 Sl

2. 3 electrons / 3 Sl

3. several electrons / S Sorarele

4. 4 electrons / 4 Solaraisl

Correct Answer :-

 6electrons / 6 SAFCIA

88) An inorganic compound producing an organic compound (urea) on heating is : /
TH FA W & FRfas AfAF (IRAT) seafea w6 arer wF JFafas a3
1. Ammonium cyanate / 3T TAIH ATIAC

2. Potassium cyanide / MCTATH HSA8S

3. Sodalime / GISTATSH
4, Sodamide / ASTATSS

Correct Answer :-

« Ammonium cyanate / IAATH TTIC

5th orbit is: /

89) According to Bohr’s theory, the angular momentum for an electron in

iR ¥ R & 3ER, 57 a1 H v gaFeta & fAC Fofg w4 g

1. 2.5h/n



2. 5h/n
3. 5w/h

4, 2.57/h

Correct Answer :-

e 2.5h/w

90) The average weight of a class of 15 students is 30 kg. If the class teacher joins the class,
then the average weight of the resulting group increases by 3 kg. The weight of the class
teacher is: /

15 SET arell T F& #1 taa gora 30 fream §1 IR Fam F Rarw afde gar &, ar
aRomet g #1 Adtaa gorer 3 frel aF @¢ ST 81 RerE F aerT §

1. 60
2.55
3.82

4. 78

Correct Answer :-

91) Molecular formula of a compound is: /

e I F1 3nfoaw g7 &

1. n x its empirical formula, where n=1,2,3,... / N X ST W 4, 8T n=1,2.3,...
2. 4 x its empirical formula / 4 x SHbT F‘\T*l'lﬂm?ﬁ

3. 2 x its empirical formula / 2 x SH®T H\Fl'lﬂm?ﬁ {3

4. 3 x its empirical formula / 3 x ST H\?’l'lﬂm?ﬁ q

Correct Answer :-

» n X its empirical formula, where n=1,2,3,... / N X ST W 4, 8T n=1,2.3,...

92) How many terms are there in the Geometric Progression 3, 9, 27, ...
,2187? /

Iuiear Avft 3, 9, 27, . .. ,2187 # Fo fraat g 2
1.7

2.8



3.6

4.5

Correct Answer :-

93) A pulley system with a velocity ratio of 4 is used to lift a load of 150 kgf through a vertical
height of 20 m. The effort required is 50 kgf in the down ward direction. Calculate (i) the
distance moved by the effort (ii) work done by the effort (iii) the mechanical advantage (iv) the
efficiency of the pulley system? /

4 37 T F WY TF A (Teft) worreh, 20 FHiex # FeateR 3918 @ 150 kgf R F 35 F A
STAHATS 1 AT §1 S Y ferem & fFam SIer areT maeds 99 50 kgf €1 T0T=T A3

(i) AT FI 9T qF A 1 g (i) AT G@rT AT arw w (i) 9t amer (iv) gelt yomedt F
GaTar?

1. 40 m, 20000 J, 3, 50%
2. 40 m, 20000 J, 3, 25%
3. 80 m, 40000 J, 3, 75%

4. 80 m, 20000 J, 3, 50%

Correct Answer :-
e 80 m, 400001, 3, 75%

94) The upper blood pressure of a patient is 160 cm of Hg whereas the normal blood pressure
should be 120 cm of Hg. Calculate the extra pressure generated by the heart in SI unit.(density

of Hg=13600 kg/m3 and g=9.8 m/s2) /

T AN FT S FTIT Hg FT 160 cm § 9 ATAT IFT9T Hg FT 120 cm 14T 91fi@T| SI 5518 & g
EART 3cdet 3faReFa gara Y 3101 #1 ( Hg FT geica =13600 kg/m> and g=9.8 m/s?)

1. 53312 x 10* Pa
2.53Pa

3.40 Pa

4. 20 Pa

Correct Answer :-

¢ 53312x 10*Pa

95) The remnant of nucellus present in seed is called ./

i # #Aleg Aeiss & @Ay F FeT ST g



1. periderm / 9Rcdsh

2. pericarp / &TaT &Y

3. perisperm / GREOT Ay
4, endosperm / 3{U'I'CITGF

Correct Answer :-

o perisperm / Q'ﬁ'ﬁi;UT Y

96) The opening of a flower and drooping of a bud are examples of: /
U q59 F1 ol HR Fell FT AIFATAT SHST 30T Fhal &
1. Spontaneous movements / ¥ad: Ifd

2. Hyponasty / Hiﬂ'aﬁ-a?‘lﬁ (BTSUIES)

3. Epinasty / Hﬁﬁgﬁlﬂ' (T &)

4. Curvature movements / dsh 31Tl

Correct Answer :-

« Epinasty / Hﬁﬂsﬁ?{ (TaED)

97) An electric iron is marked 220 V, 440 W. What current does it take and what is its hot
resistance? What is the weekly cost of using it for 30 minutes daily at Rs.2/- per unit? /

v faggd $EE 9X 220 V, 440 W Rfeea §1 e frael amr ot & 3k gwer et wforte #=m 82 2/- 39w gfay
I & RaTT ¥ 30 AT & fAT 58 STAATS FX Y AIedlfeF dATerd 471 872

1.1 A, 110 ohm, Rs.3.08/-
2. 0.5 A, 100 ohm, Rs.3.08/-
3.4 A, 110 ohm, Rs.30.08/-

4.2 A, 110 ohm, Rs.3.08/-

Correct Answer :-

e 2 A, 110 ohm, Rs.3.08/-

98) Ifsin a=4/5 and cos B=15/17, then the value of sin{a-B), where 0< a, B<90%is: [

e sin a=4/5 3 cos B=15/17, AT sin(a-B) T AT FAT §IIM, STET 0< @, B<90°:
1.23/32

2. 36/85



3. 15/28

4. 12/17

Correct Answer :-

» 306/85

99) Simplify: / TXT HI:
2In10-2In5

1.2In2

2.In2

3.4In4

4. In4

Correct Answer :-

e 2In2

100) Atropa belladonna, an important medicinal plant belongs to the family of: /
echar Jemslr, 8 Fo T UF Agcaqer vl ot @

1. Liliaceae / forferadt

2. Solanaceae / Hleladl

3. Cruciferae / @ﬁl’eﬁﬁ

4. Cucurbitaceae / W

Correct Answer :-

« Solanaceae / JreladY

Topic:- Agriculture II + III

1) White alkali soil is also known as: /

The R AGT H ____ & A ¥ Y S e B
1. Saline soil / l@oi=r Hal

2. Saline sodic soil / TIONT &R #ar

3. Acid soil / 3{&FeT e

4. Sodic soil / &TRII FeT



Correct Answer :-

« Saline soil / JIdofTr Hal

2) A tree having yellow flowers is: /

e Gal areT T AT 8

1. All of these / I T

2. Erythrina indica | TRIJ=T 3351

3. Jacaranda mimosifolia | S1#RsT [AAIEEIerar

4. Peltophorum ferrugineum | QecliBRA Beoiliag#

Correct Answer :-

o Peltophorum ferrugineum | QeciBRA Brolllag#

3) Guava belongs to the family of: /
ARG & T wefaa g
1. Anacardiaceae / UsTTRRISTHT

2. Caricaceae / {lehdl

3. Myrtaceae / #CET

4. Moraceae / AT

Correct Answer :-

« Myrtaceae / HEHT

4) Bowmans capsule is related to: /
a7 Foge AT @ wafea @
1. Lungs / %3

2. Liver / gehd

3. Heart / &

4. Kidneys / dudreh

Correct Answer :-

+ Kidneys / dyden



5) Digging pits on the slopes just for the accumulation of runoff water is known as: /

IYaTE S F I & AT gae W 132 e ' At IFR § AT I

1. Contour trenching / AT WS aATel

2. Contour terracing / THTTT SXH FeATall

3. Contour bunding / THATT Y FelTeTl

4. Beach terracing / T ¢XH STaAT

Correct Answer :-

« Contour trenching / TATTT @I Fellel

6) Ration is the amount of feed received by an animalin____ ./
IR TH AT G@RT____H uIed St Y AT 3

1.30h / 30T

2.24h / 246

3.6h / 6 ©¢

4.12h / 129

Correct Answer :-

e 24h / 24°C

7) A major disease of radish is: /
Hell T U 9@ U &

1. Powdery mildew / ﬂ(ﬁ?l’ 3f&ar
2. None of these / 38 & PIg Tl
3. White rust / %e fhg

4. Leaf rot / 90T TaTereT

Correct Answer :-

« White rust / @%he fohg

8) A long Mould Board (MB) with a gentle curvature used in tough soil full of grass is: /



UF WET aFaT aren odT Ales AE (AL Y O ¥ O FOR AE F vgEA @ §,
€ &

1. Breaker type MB / #STeh YhR hl UHST

2. Slat type MB / Tl YR I THT

3. General purpose MB / OTHT 3237 T THdT
4. Stable type MB / T8 YhR ST THeT

Correct Answer :-

« Breaker type MB / #leh YhR ol UHST
9) Calcium is a component of: /

FfREA _ FT UTH UeH gl

1. Secondary walls / aj%?hw fafcaar

2. Primary walls / oraf@e ffcaar

3. Chlorophyll / 9uTgRd
4. Middle lamella / AT YeTolenT

Correct Answer :-

« Middle lamella / FET IeTolehT

10) What is the boiling point of milk (Celsius)? /
gou (Wfcaaw &) F1 Fayas F47 T B2

1. 102

2.100

3. 105

4.95

Correct Answer :-

- 100

11) What is the limit of feeding liquid milk to a calf? /
953 H @A q¥ A= #ir @ w7 B2

1. 8% of body weight / QX & dofel T 8 UTaerd



2. 15% of body weight / QX & doteT T 15 Ifaerd
3. 5% of body weight / RIX & Tolel &I 5 Ffderd
4. 10 % of body weight / RRIX & TSleT AT 10 ITderd

Correct Answer :-

« 10 % of body weight / QX & aoleT T 10 Ifaerd

12) What is the minimum fat percentage in cattle feed? /
gy GR H wgeTad qar gfaera Far §?

1.2.5%

2.1.5%

3.0.5%

4. 1%

Correct Answer :-

e 2.5%

13) What is the required quantity of mineral mixture for milch cattle per day? /
yfa et qure et & faw @fas @sor Ay smaegs amr 7= @2

1. 100g / 100 ITH

2. 10g / 10 ATH

3. 30g / 30 ITH

4.50g / 50 ATH

Correct Answer :-

. 50g /50 ATH

14) What is the required manger space for milch cattle? /
qurs #ARAT & AT maers A FuE F=41 gar @2
1.2.5 feet / 2.5 I

2. 10 feet / 10 e

3.5 feet / 5 PIE



4. 1.0 feet / 1.0 BIE

Correct Answer :-

e 2.5 feet/2.5HIE

15) Immunoglobulins are rich in: /
sFgeedigiae _ 9o g B
1. Toned milk / &g EET

2. Fresh milk / ar Gl

3. Skim mik / FeTTg TR (FFehra) g

4. Colostrum / sTdEd=T (hIAECH)

Correct Answer :-

« Colostrum / TTETT (HIGIECH)

16) Soil puddling is classified as a ./

HeT usfoler (IRT S M TF __ F w0 F Fefipa fwar awaw B
1. zero tillage / =T leg?l'lé’

2. secondary tillage / Eﬁ?ﬁ'ﬂﬂ? @HI%

3. primary tillage / 9TafA® \_r‘l_,T-l'Ié'

4. blind tillage / T€AY (SelI$S) SIS

Correct Answer :-

- secondary tillage / GidciIdeh Tg?l'lé’

17) Indigenous plough is a: /

Taeelt g &

1. Secondary tillage tool / aﬁ?ﬁw oldl‘;f'; 39hIU]

2. All of these / T T

3. Primary tillage tool / 9TfAe® oldl‘s:‘a 39hIUT

4, Multipurpose tool / ags?%ﬁu 3907

Correct Answer :-



« Multipurpose tool / agﬁahtr 3YhI0T

18) Colostrum is deficient in ./
qAGEATT (PIAITEH) & 3rqef gar gl
1. Vitamin A / faerf@er A

2. Vitamin K / f@erf@sr K

3. Vitamin D / faerf@« D

4. Vitamin B12 /ﬁ?@ﬂ B12

Correct Answer :-

« Vitamin K / @erf@a K

19) Marek’s vaccination for chicken should be started on: /
g & AT ARF &1 dhreor Aw Har s afgw:

1. 1 month of hatch / 378 & Sl el & 1 Al

2. Dayofhatch/.'ﬂ% pa il IGERGE RG]

3. 24 days after hatch / 373 & T et & 24 &7 gRamd

4. 1 week after hatch / 318 & il fiehelel & 1 HCATE 9T

Correct Answer :-

« Day of hatch / 373 & il Ao & foor

20) A plant growth regulator used for increasing flower stalk length in Chrysanthemum is: /

TGS A Feoll HT S T 91§ T F v ey wrew iy s F1 393
T rar &

1. NAA
2. ABA
3. IBA

4. GA,

Correct Answer :-

. GA,



21) A plant growth regulator sprayed in the onion field to prevent sprouting of bulbs during
storage is: /

HSROT & SNIeT el F HFIOT H Wl & fAT warer & & F et gy gig
s F1 RBDseE T I ¢

1. GA,

2. Ethephon / TfA®IA

3. ABA

4. Maleic hydrazide /| HolsHh EIB39115S

Correct Answer :-

« Maleic hydrazide / #olgdh 3388

22) IBT system supplies to dairy processing plant. /
ITEEr yomrelt greremer (33) THEFIOT FIT FY #r amqfet w B

1. chilled water/ 33 ST
2. condensed water / dTs9 STl

3. hot water / IT ST

4. sterile water / GiIEIIUoIIi?H STel

Correct Answer :-

« chilled water/ 3 STol

23) Brucella vaccination should be started at: /
AT EFTRIOT Y YTHTA el ATRT:

1. 2 months of age / 2 ATE T I H

2. 6 months of age / 6 FATE HI 3Ig A

3. 1 week of age / 1 GCTg Hr 3 H

4.1 year of age / 1dY &I 3Ig A

Correct Answer :-

« 6 months of age / 6 HIg @f&]‘l’g’ﬁ



24) An example for preservation by fermentation is: /
fFvaer garT WaTor & fav ve 3qrEr @

1. Wine making / RIS STl

2. All of these / SCI'{fIDch EN)

3. Pickling / 3R STl

4. Canning / T3saTeidr

Correct Answer :-

« Wine making / TS SoATAT

25) A hormone used for inducing flowering in mango is: /

A F goual B WA F F v g3y By e aren geifa 8
1. GAj

2. NAA

3. Cytokinin / HTgcITS AT
4. Paclobutrazol / YeFcilsgglailel

Correct Answer :-

« Paclobutrazol / W‘@Gﬂ?’r

26) Jaundice is mainly the affectionof ./
difor T 78T T ¥ __ T EHAC g g
1. liver / ghd

2. heart / ¢

3. lung / Bhg

4. intestine / 3Td

Correct Answer :-

o liver/ gpd

27) Microbial preparations that are applied on soil to augment agricultural production are
known as: /



Y 3cuee F Fe F AT FaT W 9gFT A arell gawAsdr FA F fAFT w1 &
ST ST 3

1. Humus / EJHH (EJ01)

2. Biodynamic agent / 39 3Tfde &RH
3. Biofertilizer / 31d 34

4. Biocontrol agents / Sid o907 FR&

Correct Answer :-

« Biofertilizer / @ 3RH

28) Micro irrigation is also known as: /

oA REg & ____ & & & ot s sman @
1. Localized irrigation / TUHT f&ars

2. Flood irrigation / dTg¢ ﬁl’ﬂTé‘;

3. Nano irrigation / a1t f&amS

4, Petite irrigation / 9fee &g

Correct Answer :-

« Localized irrigation / TUT=iT &g

29) Heterosis is the result of ./
HHY 3o (§eURw) T IR §

1. grading up / FIRT AT (AT 317)

2. close breeding / §1¢ IsTeTel

3. cross breeding / YR Falelel

4, line breeding / HAS 3d: ol

Correct Answer :-

« cross breeding / Y Holelel

30) Mulch will help in the kitchen garden to: /

ATk aifesdT # goaar (I =) AeT & #Aeg FH:



1. Control weeds only / shdel TX-IddR @I={d = &

2. Conserve moisture only / hael oTHT I TI&T Ll H

3. Add nutrients to soil only / shdel TAZT # & dI¥e ded [Aear &
4. All of these / & T

Correct Answer :-

o All of these / T T

31) De-worming of calf should be done from: /

T53 T FiAgeor (B-aifdm) ¥ 5 s TfRu)
1. 4 weeks of age / 4 HTAg I 3y

2.3 weeks of age / 3 HTAg hr g

3. 6 weeks of age / 6 HTATg Hr 3y

4.1 week of age / 1 GTdTg hr 3y

Correct Answer :-

« 1 week ofage / 1 Wﬁﬁ]’{[

32) Ruffled feathers, cyanotic comb and wattle, yellowish diarrhoea are symptoms of : /
3Ffaa 99, ARIefed wiFa AR e, ey gva & e

1. Coccidiosis / TEIDEF%'&T

2. Fowl cholera / ﬂ?ﬁ' T (B3l PleRT)

3. Fowl typhoid / ®I3el 3T aX

4. Marke’s disease / AR 9T

Correct Answer :-

o Fowl cholera / ﬂ?ﬁ' SR (PI3eT HieRT)

33) A fruit plant which is commonly propagated through air layering is: /

TF Fel 9T S WHICT: a1 Wad & ATEIH § YHRA (o) g 8
1. Guava / 3JHEG

2. Mango / 3TH



3. Papaya / 9dTdT
4. Jack / gl

Correct Answer :-

o Guava / ARG

34) Which mango variety is suitable for high density planting? /

3ed °eled W9VT & AT e Ay Fa @ v sugEa
1. Amrapali / 39Tl

2. Sindhur / fHEY

3. Alphonso / 3TeThIET

4. Mallika / ATeeTent

Correct Answer :-

« Amrapali / THYTN

35) Which portion of the head of cattle is known as Poll? /
Faet F AR & forw e w N FeT AT 82

1. Back of upper lip / IR 816 T TSaT HI9T

2. Bridge of nose / ArAGS (fosT 310 =iteT)

3. Raised portion between horns / 91T o S T 3T §3—1T HATIT
4. Lower jar angle / foT<IelT ST&IST 10T (G13R SR TaTeT)
Correct Answer :-

 Raised portion between horns / 9Tt o &I T 3T §3—1T HTIT

36) Which among the following is an early duration variety of potato? /
Prafafla # & sl ame & SR sty # P B2

1. All of these /B'Q'éflfl'?f T

2. Kufri Ashoka only / ol W M

3. Kufri Jawahar only / shdel W CCIRRS

4. Kufri Chandramukhi only / shdel Tcﬁﬂ' ﬂaﬂ'@’f



Correct Answer :-

« All of these / 39T F3lr

37) Which among the following is an ornamental plant with medicinal value? /
farafaf@a & & Fla-ar sty ot arer gomad dar @2

1. Zinnia / fSie=itar

2. Vinca / HeTdIgY

3. All of these / & &Y

4. Verbena / d&aT

Correct Answer :-

« Vinca / GcldgR

38) Which among the following is an ideal rootstock for grafting Brinjal for bacterial wilt
resistance? /

Sarorer Fenfar 9oy & AT S A Foaw quw F@ F Qv Al § @ sia-
| T Ireet T 82

1. Solanum torvum | HleldH ENTH
2. Solanum tuberosum | HloleTH 5?23?77777

3. Solanum lycopessicum | HlelddH FHISHIGIHPH
4. Solanum melongena | Glcladm7 Hellal=r

Correct Answer :-

o Solanum torvum | HeladH ENTH

39) Which among the following is a physiological disorder of rose? /
famafaf@a & & Fla-ar o F1 vF FAAT FFER 82

1. All of these / I Y

2. Blind wood only / Fdel slles ds

3. Bull heads only / hddl e gsq

4. Limp necks only / &hdel olid =g (eTiTell 3frar)

Correct Answer :-



« All of these / I T

40) Which among the following is a tetraploid variety of banana? /
RrafafRd § @ Fla-d o A w Lerates e B

1. Poovan / st

2. Monthan / ®2T

3. ‘Goldfinger’ FHIA-01 / ‘T8 fhaR’ THUT3MST-01

4. BRS-1 / «13/RTH-1

Correct Answer :-

« ‘Goldfinger’ FHIA-01 / 9les fha’ THUAATET-01

41) Which among the following plants is suitable for making edges in the garden? /
Pt dul # ¥ Flaar @ i § R ae & R sage 3

1. Gerbera only / hael SIeRT

2. All of these / & &Y

3. Coleus sp. only / hddl Iferdd IATicl

4. Alternanthera only / del 3TeeIART

Correct Answer :-

« All of these / o @Y

42) Which of the following is a legume fodder? /
Rrafafed # @ -1 o FEER 9RT P
1. Congo signal / e f&9sTer

2. Para grass / T g

3. Subabool / geel

4, Guinea grass / ZIEFTJHT urd

Correct Answer :-

« Subabool / gasel



43) Which of the following is a tick-borne infection? /
@ & ¥ Fia-ar Re-afaa dwaAvT 2

1. Pox / ddeh

2. Anthrax / U9

3. Theileriosis / JaRATAT

4. Rabies / JdIsT

Correct Answer :-

« Theileriosis / RANTAT

44) Which of the following is a fibrous carbohydrate? /
fAmfaf@a & & sla-ar e YR FEkEse @2
1. Fructose / SaFelIal

2. Glucose / 3@3’

3. Cellulose / @ﬂﬂ’ﬁf

4. Starch / T

Correct Answer :-

o Cellulose / ﬂﬂ?ﬂ?

45) Which of the following is the largest milk producing country? /
PrfafRd & ¥ Fa a3 gry SeueE dur Fl-ar §2

1. USA / HJFd T HARHT

2. China / fleT

3. India / R

4. UK / ZsT1ses famarsA

Correct Answer :-

e India/ AR

46) Which of the following soil pH level indicates an alkaline soil? /

fPrafaf@a & ¥ Fi9-a1 qa1 F71 dva (pH) TR ©F 40T Far A gaier ¥



1.pH 7.0
2.pH&.5
3.pH 6.5
4. pH 5.5

Correct Answer :-

« pH&.S5

47) Which of the following is an Indian sheep breed? /
fArfafaa & @ Fila-d ardT a9z i ava &2

1. Rambouillet / ISl

2. Gaddi / 1€y

3. Suffolk / AP

4, Southdown / HT3YST31

Correct Answer :-

. Gaddi/ 31eY

48) Which of the following herbicides inhibits photosynthetic reaction? /
T & & Fla-ar anwamnft yFer @avor FARFE N Awar 2

1. Cyclohexanedione / Hm%ﬁﬁ%ﬁ?f

2. Benzoic acid / aGﬂ% A+

3. Triazines / §'I??Trﬁ?-r

4. Tricarbamates / Zj.'l%ﬁﬂ'@l‘lﬁ?

Correct Answer :-

« Triazines / TIS3ile]

49) Which of the following ploughs is ideal for deep ploughing in the grass fields? /
U & Ae@l 7 el Jarg Fa F Qv Ammfaf@a & & Fla-ar g ameey

1. Rotary plough / 'EI;Uﬁ' gol
2. Disc plough / ddeR (T3%k) g



3. Chisel plough / TSl ger
4. Ridge plough / A% §oT

Correct Answer :-

« Disc plough / ddgR (f$&Hk) gof

50) Which of the following vitamins is NOT present in milk? /
farafaf@a & @ sla-wr Rafde g & sy 7@ gar 82
1. Thiamine / ATIHIT

2. Vitamin C / fderffe C

3. Vitamin B12 / f@e1f@a B 12

4. Riboflavin / TSeFelTdeT
Correct Answer :-

« Vitamin C / f@erf@a C

51) Which of the following cattle has originated in North India? /
AFfef@T & § Fi9-8 A 1 sfcd SeoR 7R # g§ o
1. Amritmahal / 3-1?=<I_FITI%T~|'

2. Bargur / s

3. Kankrej / Il

4. Hallikar / goellen]

Correct Answer :-

« Kankrej / STt

52) Which of the following elements is present in the core of chlorophyll molecule? /
frafaf@a & & Fia-a1 acg goieRa (FRfee) 307 & seasir # sula g &2
1. Fe

2. Mg

3. Mn

4. K



Correct Answer :-

53) Which of the following elements is NOT required by plants for their normal healthy
growth? /

farafaf@a & @ sla-wr aca dut ganr 39F aEeT T Rew & Qe sraeas
el &

1. Pb
2. Fe
3. Mg
4. Ca

Correct Answer :-

« Pb

54) Which of the following is NOT a feed additive? /

frfefRa & ¥ Fa1 Mo & A~ J= arer 9w (Fs W) g &2
1. Antioxidants / TERiFAESeH

2. Antibiotics / TeeTaIfeTa

3. Flavoring agents / 4T d¢lel dlel UsicH

4. Fish meals / #GeT STt

Correct Answer :-

« Fish meals / #@o ST

55) Which one of the following is NOT an advantage of organic manure? /
faf@a & @ Fla-a1 v FEAF G@E &1 TF JA T8 T2

1. It acts as mulch and minimize the evaporation loss. / Jg Tk Il 919 & *T H ST T
¢ 3R arshertor FJhAre d HA B Bl

2. It decreases water-holding capacity of soil. / Ig #HaT $I STA-URUT &HAT Pl HA Il gl

3. It helps to maintain C:N ratio in the soil. / Jg F!:q'T H C:N 3101‘“(1 FI FATC @A H HEG
AT &l



4. It improves both structure and texture of soil. / Ig el $r TG 3R gAge et | uR
FLA B

Correct Answer :-

« It decreases water-holding capacity of soil. / Jg el $I STA-URUT &THAT Pl HA Il gl

56) Degreening in fruits can be achieved by applying: /

wal # gRaar gaATed e Fr wgFd FIF wIed H ST FHAT
1. All of these / 3'CI'€17=F<-T T

2. Potassium permanganate / WeTATH WHIAT

3. Ethylene / T&Yellel

4. Maleic hydrazide / #fole g183Te8s

Correct Answer :-

« Ethylene / Tefrellet

57) The overall mineral level of soil recedes due to: /
HET F1 AT @iasl T ¥ FNOT e &
1. Leaching and utilization by plants / fo¥&TTeret 3R diyr CARI 39T

2. Leaching only / &hdel f&TTereT

3. Utilization by plants only / dhael Gieir GEIRY 39T

4. Chemical reaction / T ATRATHAT

Correct Answer :-

« Leaching and utilization by plants / fei&TTefeT 3R ot CARI 39T

58) The total depth of water (delta) required by a rice crop (duration 120 days) to reach
maturity is: /

IRYFTdT dF Gga & T Tad A FaE (3af 120 ) B A@RIAF Td ;T FA
TS (3°CT) ¥ -

1. 140 cm / 140 @#HY
2.100 cm / 100 J#T

3.80 cm / 80 THT



4,120 cm / 120 ¥HT

Correct Answer :-

e 120 cm /120 §&HT

59) The decomposition of carbohydrates by microorganisms on enzymes is called .
TATSAT T EASEl GaRT FTalgsse & Hquce I T AT ¢

1. Dextrinisation / SFECIATSIL0T
2. Fermentation / fepuaeT

3. Putrefaction / HSel
4, Canning / TSeaTed)]

Correct Answer :-

« Fermentation / fhUgeT

60) The three-year old cattle will have ./
TH T AT F AN A g

1. 2 permanent teeth / 2 TATAT &It

2. 3 permanent teeth / 3 TARN erd

3. 4 permanent teeth / 4 TATAT &1d

4. 8 permanent teeth / 8 TATAT &I

Correct Answer :-

« 4 permanent teeth / 4 T G

61) The composition of milk changes with the ratio of: /

QY FT WY faser & IHqIIT F WY qged 8

1. Isobutyric acid:butyric acid / HT%?HTEZI@W 3ol : aq\aﬁ% 3HFel
2. Butyric acid:valeric acid / E{aﬁiﬁ 31F : TRk 3FeT

3. Acetate:propionate / Uf8ce: MfU3=e

4. Isovalerate:valerate / 3TSHIGeRC : delke

Correct Answer :-



. Acetate:propionate / Uffce: MU3NAC

62) The standing space for a pregnant cow (sq.m.) should be: /

mtadt T F AT @3 g (¥R F1 Tuw (T HAex #F) e TRkw
1.7

2.5

3.6

4. 10

Correct Answer :-

63) The biocontrol agent for managing Cercospora leaf spot in Bhindi is: /
At & gafeaRr oot RfTT & veya & A sla [y +rF @

1. All of these / 3"7?3‘(_7’ aHr

2. Bacillus macerans | AT H#veT

3. Trichogramma chilonis | STSHIAHAT fenlfaa

4. Pseudomonas fluorescens / \7-_{7\?773’7377 FANEH

Correct Answer :-

o Pseudomonas fluorescens / ?—'{ZE'?H?WF FANET

64) The ratio of the quantity of water stored in the root zone of crops to the quantity of
water actually delivered in the field is known as: /

wHdl & o8 T A FART STl T AMT F Tl # IFdREF 77 F {AaRa ster & A=
¥ AT & w9 F ST SAar g

1. None ofthese/g?ﬂff pe aﬂé’ o_-l'@f

2. Water conveyance efficiency / STel ddgel GaIdl
3. Water application efficiency / STel 3-]7:|;9|?3I>I?T catdr
4, Water use efficiency / STel 3UANET &eTdr

Correct Answer :-

« Water application efficiency / STel 3-]7:|3'§|'€I>I?T cG&Tdr



65) The daily milk secretion of a cow by percentage of its body weight should be: /
F M A fAF qu 1 uE 3uF W F g9 F iaud F AR AT e e

1.20%
2. 10%
3.15%
4. 8%

Correct Answer :-

e 8%

66) The first ring on the horn of a cattle appears at: /
Aaeft & o W ggar gay @S aan &

1. 6 months of age / 6 Hglel T I H

2.5 years of age / 5 a¥ T 3 o

3. 1-2 years of age / 1-2 ¥ &I I H

4. 3-4 years of age / 3-4 AY &I I H

Correct Answer :-

« 3-4 years of age / 3-4 AY &I I H

67) The other name for three day fever seen in cattle is: /

ARl F AW A T AT R & W w1 gEw O &

1. Swine fever / FATSeT Fe oY

2. Ephemeral fever / ¥qedly ol
3. Canicola fever / hfaraplall Fa¥
4, Milk fever / ??I SdY

Correct Answer :-

+ Ephemeral fever / ¥qeUTd Fal

68) The total percentage of solids in buffalo milk is: /



89 & qu # oW vyt F1 Fo yfaed g g
1. 12%
2. 17%
3.10%

4. 15%

Correct Answer :-

e 17%
69) The largest portion of brain is ./
ATETSH FT TIW qIT AT giar §1

1. cerebellum / 34@?4%1@
2. cerebrum / THTETSH

3. Medulla / AT (Age)
4. pons / gied

Correct Answer :-

« cerebrum / FATEISH

70) The process of preserving food by rapid freezing followed by dehydration under vacuum
is called i

fata & siaeta fsteeor & aig g Rfietor qarr siee f Wida s i g
Fgardl gl

1. Lyophilisation / GaEAGIRUT (ATAThelTgo12re)

2. Sterilization / JIMTULATRI

3. Cold dehydration / eff/d fAsTelrertoT

4. Cryopreservation / faeAdra aRR&T0T (FRAITSEeE)

Correct Answer :-

» Lyophilisation / GaEIEIHIOT (STAheTSNRI)

71) The minimum percentage of TSS in the fruit syrup is: /

wal & RAIT F TSS it =eran ufaeraar g &



1. 55%
2. None of these / S8 & afl'é’ B
3.65%
4. 75%

Correct Answer :-

. 65%

72) The lactose content in buffalo milk is: /

S & qu o qruwd (e AT Qe ¥
1. 5%

2. 7%

3.2%

4. 10%

Correct Answer :-

e 5%

73) The National Deemed University for the dairy research is located in .
AT 3 ITHYTE AT ReafgEey # fua #

1. Haryana / gR=rom

2. Tamil Nadu / Hﬁ?ﬁﬂ’g’

3. Delhi / f&eelr

4. Kerala / &h3el

Correct Answer :-

« Haryana / gR3armom

74) The oestrus cycle of a cow is: /
AT & A 9% T Ay g g
1. 10-15 days / 10-15 f&=T

2.18-21 days / 18-21 &=t



3.30 days / 30 &
4.25-27 days / 25-27 fesT

Correct Answer :-

e 18-21 days / 18-21 f&=T

75) The specific gravity of cow milk is: /
T F gy F AT ved gar @

1. 1.07

2.1.01

3.1.03

4.2.0

Correct Answer :-

« 1.03

76) The breed of chicken that lays blue eggs is: /
I A TF aF SN A 7S AN
1. Rhode Island Red / UES 3183 18

2. Kadaknath / hSchadlT

3. Leghorn / CERD
4. Ameraucana / AR

Correct Answer :-

« Ameraucana/ 3TAIIRTAT

77) The most common disease of banana in India is ./
AR # For FT TG FAIW _____ §

1. All of these /3'CI'4§IDTT'T—T gAY

2. Sigatoka only / dhad [emerer

3. Bunchy top only / shddl IO A MY (st ef)

4. Fusarium wilt only / shdel Wﬁﬁ'ﬂﬂ fdec




Correct Answer :-

« All of these / 39T F3lr

78) The instrument which is used to measure the maturity of fruits is: /
wal 1 IRUFTAr F A F AT 9gFT @ arem A7 8

1. Penetrometer / Ufacaex

2. Barometer / SRI#HIEI

3. Anemometer / TATHIAIEI

4. Fluorometer / FIRIHICT

Correct Answer :-

« Penetrometer / YfsieiHey

79) The optimum calving interval for a buffalo is: /
wF #9 & AT gvean Hfeqer e 8

1. 6 months / 6 FAGTeT

2. 14 months / 14 ﬂ'{?l'?f

3. 10 months / 10 ?F@FT

4. 16 months / 16 ?Flflﬁ

Correct Answer :-

« 14 months / 14 AL

80) The optimum dry period of a dairy cow for the maximum milk production is: /
fFaR U e F AT v A AT A geeaA e Iafy g ¥

1. 30 days / 30 f&eT

2.20 days / 20 feaT

3.40 days / 40 f&eT

4.10 days / 10 feoT

Correct Answer :-

o 40 days / 40 f&oT



81) The most critical resource in a dairy farm is: /

TS GIYATAT &1 (38 B) FH waW Ageaqur HETH &
1. Capital / lTI‘\G-W

2.Land / ﬂtﬁf

3. Labour / #f8s

4, Feeding / 3TgX

Correct Answer :-

+ Feeding / 3TeR

82) The maximum weightage in a scorecard is given to while judging of cattle. /
M A ST TS TAT 0F TERSS F f0FaA afan F & Frelt ¥

1. body capacity / QIR &7HAT

2. frame / Wd

3. udder / geT

4. dairy character / 3T oT&T0T

Correct Answer :-

o udder/ YA

83) The axial skeleton consists of: /

efw e & @ART A &

1. Ulna and radius / 37d: 9ehifSaar 3R afg: TahlSaaT (3o IR IE3T39)
2. Skull and vertebra / FRIfC 3R FHATH (Thot IR afesm)

3. Patella and sacrum / STifeaent 3R B (qreear 3k d%H)

4. Femur and tibia / 3V 3R 3iaentaer (Frex 3k fefe=m)

Correct Answer :-

« Skull and vertebra / FTC 3R FHATP (Ther IR afesm)

84) The average content of silica in soil is: /



1.24%
2.27%
3.31%
4.35%

Correct Answer :-

« 27%

85) The most productive chicken breed for meat production is: /
AW 3e9eA & faT ga@ HAF eues Fq A awd @

1. Australorp / 3TECAT

2. Minorca / fR=ifepr

3. Brahma / STgHAT

4. Sussex / TOFH

Correct Answer :-

o Sussex / gdFH

86) The material which can be used for packing fruits and vegetables is: /

%o 3R afeoat # 3% F & e S wwrEl ygwa oo g §, 9 @

1. Stretch films only / shadl difad (¥¢d) e

2. Polypropylene boxes only / shdel lelAIdTSellel Siehe
3. All of these / 39T Fafr

4. Corrugated fibre boards (CFB) only / &hdel sTollGR HISeR &8 (FIFQT gg IT HITHH)

Correct Answer :-

- All of these / 3uderd wafr

87) The system of planting in which the plant-to-plant and row-to-row distance are same is
known as: /

Aot it yormelr s di-a-aie siiv 9fFa-d-afea fr @ g @ B 3w
FEd &



1. Contour system / AT JOTTeIr

2. Square system / @37 JOTTeIT

3. Hexagonal system / S€ehIUT JUTTSIT

4. Rectangular system / 3TTICThIR YOTTell

Correct Answer :-

« Square system / a7 goTTelr

88) The hook region used for Judging cattle is seen towards ./

mmm*mmmmmgm_ﬁmmm%l
1. forelimb / 37r9TE

2. hind limb / 9TTE,

3. udder / ¥ (3=N)

4. rump / 93T (Ffewry) Ir 9

Correct Answer :-

89) The science-based system for the clean milk production is: /

TaT5 U 3cues & faaer memRe yomel @

1. Occupational Health and Safety (OSH) / SITadT e TX&T U4 TR (3TTHUH)

2. International Organization for Standardization (ISO) / 3TARRTSEIT HTAHIAIUT HISe]

(3TSTE3M)
3. Bureau of Indian Standards (BIS) / IRl HIsIdh @ﬁ(ﬁm)

4. Hazard Analysis Critical Control Points (HACCP) / WcRRetTeh faRelwor 3R 318y fadsor foig
(TTTERE)

Correct Answer :-

+ Hazard Analysis Critical Control Points (HACCP) / @cRelTeh fageivor 3R 18R fazror fog
(TTTEET)

90) The somatic cell count/ml in normal milk should be: /

AT g # F1¥F HIfwr atF dd) FEaAe fAmr g @i



1. 3,00,000
2. 4,00,000
3. 5,00,000
4. 1,00,000

Correct Answer :-

« 1,00,000

91) The major function of phosphorus is in the formation of: /
BREPRE FT GG FY & famror & g
1. Carbohydrates / FTSIgI33¢

2. Enzymes / U’EngJ:T
3. Cell wall / I fAfea

4. Cell membrane / FITADT Breelr

Correct Answer :-

« Cell membrane / &ITAT @cv?—rll

92) Syngamus trachea infection in chicken causes: /
HqIf F RIAw (arwerel) SRF3m FHAT F BT B
1. Lameness / q?l?lT

2. Gasping / gT%a1T

3. Diarrhoea / G&d

4. Greenish faeces / 8 Hol

Correct Answer :-

« Gasping / §TheT

93) Who among the following is known as the ‘Father of Green Revolution’ in India? /
farafaf@a & ¥ F¥ axa & FRa Ffa & FoF F T F =7 J1ar 2

1. M.S. Swaminathan / TH. TH. TATHIATUA

2. Norman E. Borlaug / ATHT §. SRalTaT



3. E.V. Kurien / $.dT. fﬁ'q?f
4. D. Rakesh Mohan / 8T, Thl HAlg

Correct Answer :-

« M.S. Swaminathan / TH. TH. TTHTUH

94) CANCELLED

Which of the following is a semen diluent? /
fAmfaf@a & & slqa-ar & Rags &
1. Alcohol / Teehlgel

2. Glycerol / FereRier

3. Sucrose / W

4. Coconut milk / SATRZrer Al

Correct Answer :-

» Coconut milk / SITRIT g¥r

95) CANCELLED

Which of the following implements is used for micro levelling of the field? /

famafaf@a & & Fla-ar svaor 99 F gaw gHaaa & A 39T Far s g2
1. Harrows / g (§9M)

2. Flanker / Foleny

3. Hoe / eTell

4. Roller / Jelk

Correct Answer :-

« Flanker / FoleY

96) CANCELLED

Blind tillage refers to: /
gAY Jd1$ (samgs A ¥ arcad g
1. Summer ploughing / IrsARTelNT ?Ifﬂ'g“;



2. Hoeing in standing crop rows / @al B $I HART H hclel delledl

3. Hoeing before germination / 3-ifl_;{UI T Ugel alel dellel

4. Primary tillage / ITUfA® Elaalé

Correct Answer :-

+ Hocing in standing crop rows / @31 ®Hel &I HcART H FeTel dellell
97) CANCELLED

The sixth pair of molars in cattle appears at: /

MR # g F S A3 # fews aa B

1.2.5 years / 2.5 ay

2.3.5 years / 3.5 a¥

3.2 years /2 ay

4, 4.5 years / 4.5 ay

Correct Answer :-

e 4.5years /4.5 ay

98) CANCELLED

The minimum standing area (sq.m.) for a cow should be: /

wF T F AT @3 @ (VM) F1 sgwaw dawa (T g ke
1.0.2-0.4

2.0.3-0.5

3.0.5-0.7

4.0.8-1.0

Correct Answer :-

« 0.8-1.0

99) CANCELLED
Soil fertility is reduced due to: / 3

gT &Y 3&RaT & FROT F7 & AT Bl



1. Continuous cropping / [TRa¥ TEgeT

2. Over irrigation / 37T @iﬂé{

3. Poor drainage / TRIT STel IGEIEsI]

4. Imbalanced use of fertilizer / 39T &I Wﬁ 39T

Correct Answer :-

« Imbalanced use of fertilizer / 33k T Wﬂﬁlﬁ 39T

100) The poultry meat is NOT a source of: /
Fape A e F1 A 781 &:

1. High protein / 3T=a 9éleT

2. Essential amino acids / 3Taege 3T 3ol

3. Vitamin B complex / faerif@s & sirceaa

4. Vitamin C / faerfder &t

Correct Answer :-

« Vitamin C / f@erfaa O



